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two balls are selected at random, what is the

probability thatnone is yellow?
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I 33

Damodar is 26 years older than his son. In four
years, his age will be twice the age of his son. The
presentage ofhissonis:

A. l6years

B. 18years

C. 20years

D. 22years /

Introducing a girl, Niraj said, ‘Her mother is the
only daughter of my mother-in-law’. How is Niraj
related to the girl?

A. Husband

B. Brother

C. Father

D. Uncle

Covid— 19 is caused by
A. Bacteria

B. Parasite
_C. Virs

D. Fungus

Madhuri, who is facing South turns to her left and
walks 15 metres, then she tums to her left and
‘walks 7 metres, then facing west she walks 15
metres. How far is she from her original position?

A Tm UL et

1) A bag contains 7 blue balls and 5 vellow balls, [f 6) 1fSund
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ay falls on 30th April, what day would be on
31stMay?

A. Saturday

. Sunday

. Monday

. Wednesday
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Deepak has some hens and some goats. If the total
number of animal heads is 90 and the total number
of animal feet is 248, what is the total number of
goats Deepak has ?

A 32

B. 36

C.34 —

D. Cannotbe determined

In class the average age of 75 students is 7 years. If
along with the class teacher, the average is 7.5
years. What is the age of teacherage?

A. 375 years

B. 45 years

C. 42 years

D. 39years

In a factory of 140 machine parts, 5 percent were
defective. In a factory of 80 machine parts, 10
percent were defective. For the two factory
combined, what percent of the machine parts were
defective?
A. 650%

L

.y

Scanned by CamScanner



1) The correct sequence of communicationis ...
A. Message Sender Receiver
B. Message Receiver Sender
C. SenderMessage Receiver

D. Receiver Sender Message

AB,DE,GH,?, MN
A1)

B. HI

C X

D. None

13} Pick the odd one
A. Bengali

B. Marathi

C. English

D. Kannad

14) Inarow oftrees, one tree is seventh from either end
of the row. How many trees are there in the row?

A 8

B. 13

C. 14

D 11

15) In a class of 45 students, a boy is ranked 20th.
When two boys joined, his rank was dropped by
“one. Whatis his new rank from the end?

A. 25th

B. 26th

~ C. 27th

D. 28th

16) L& @@l
A. aufy

AW

17y qwear g @l e ar s a1
Tt e
A. eyl d T ST e,
B. WG R T g B0,
C. IISU TS T YU Bl
D. e M ST,

«arel =Ry AT AT YR ATHHEAR DIV
A. TN fSTasl

B. G €Il

C. a-yraR ALl

D. YHAH

18)

19) ‘P A yRT RvwRi IS swa

A. 9G8R

B. HaEd
C. e

D. 3qd

T QRTINS NSE?

A.
B. Wl
c. Y
D. W%

20)

T

A. gD TR
- B. XTHTE1 9191
C. ¥R ¥

D. XTSI

21)

22) RS i v S e aear.
fARaes
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23) areiRRe Freaie ATl sawt.  27) sERfad sreardl y@R aewar, gl

a1) el TR ATeR S UIEICRCREIRRIEG A
Awd A. SRITa AT
B. @ B. zrea il efery
C. 3rarer C. fepafazrgor
D. WU D. dacyfl sier
24) F AT 3ATe’ - YOf AT DT DI, 28) el - FH - UG AT RERHEET
A gHESS. e LI
B. g Ard@d 3. A. AT
C. I ATBS 13RI B. 3 HqE
D. A AL C. BT
D. 9T

25) '3 TS TN PP B8y A BIeufAdh '
R A IR A% IETE anfer  29) e G el qrarost THR | (e PR

e @ s fhamerd 3]

TSI BRI ST A. 3BT NBER

A. 3t B. Y4B AS DR

B. Famarelf C. 3rfcrRRITaRT SHR

c. yzefe D. SUHIIABIR

D. it TE!

30) SEFYOT A< dT | it AT |

26) @ Ued BB WESE G IE, A WAT I AR | ARASHpATATaR| |

A. A HD A. THE THBR

B. e B. ajmﬂmﬁ

C. \ATaHTT
- D. @EIAR
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/31) Whatis the full form of AD, used with dates? 39) Thar Desert is situated in -
y A. Ann.oDomini A. Rajasthan
B. Assistant Director B. West Bengal
C. Aknowledgement Due C. Tamilnadu
D. After Date
D. Uttarakhand
32) Which of the following planets of our solar system
/ has least mass? 40) Which of the following is the highest mountain
A. Neptune peak in Maharashtra ?
13- JMUP“af A. Taramati
ifoing B. Anjaneri
/D. Mercury
C. Salher
33) Ozone gasis present in which layer of atmosphere? D. Kalsubai
ZA. Stratosphere
B. Troposphere _A1) National Rural Health Mission (NRHM) was
C. Tonosphere launched in the year :
D. Mesosphere A. 2003
34) Who builtthe Khajuraho temples ? B. 2004 J
A. Holkars AC. 2005
B. Scindias D. 2006
C. Bundela
«/D. Chandela

42) Who was called the “Iron Man of India’?

35) At which the foilowing places is the famous ~A. Sardar Ballabhbhai Patel

/ Kailasha Temple located? B. Surendranath Bannerjee
A. Ajanta C. Bipin Chandra Pal
B. Badami ] .
D. LalaLajpat
C. Chittor S
/D. Ellora : ‘
43) Whichseaisto the west of Maharashtra?
36) Whichofthe following is NOT a Union Territory ? A. Black
A. Goa B. Arabian
B. Lakshadweep . £ Tabidan
C. Dadarand Nagar Haveli D Ti
D. Chandigarh bcs
%7) How many spokes are there in the Dharma Chakra  44) Marathi Language Day is Celebrated on
v (Ashok Chakra) depicted on the National Flag of A. 15th February
Edlla 6? B. 7thFebruary
B. 20 C. 20th February

‘/g. 32 |

38) Theheadquarter of RBIissi
/  A. Delhi :
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46) Give the meaning of "To callitaday’. )é“) “I'm sure I've met your father.

* A. Tohavea good day. A. Verb
B. Toworkall the day. B. Preposition
C. Tohavea free day. . C. Pronoun
~D. Tostop doing work of the day. D. Interjection

47) Choose the correct meaning of the given phrase or 55) Make the adjective of the word ‘occasion.’
A. occasioned

idiom:
Look into— B. accusational
A. toexamine thoroughly C. occasional
B. towatch <D. occasionally
C. toobserve
D. tofollow 56) Choose the correct conjunction :
She boughtacar,  she was too young to
48) Which of the following word is correctly spelt? learn to drive.
A. administration A. if
B. convorsation B. because
’ C. creatyre C. although
; D. devolop D. ifnot
49) Meaning of "Fly by night" 57) Iwillsingifhe o
A. Nightjourney A. will askme
B. ABirdbusy innight B. asksme
C. Cat'seye C. askedme
D. Swindler D. hasasked me
58) Hesaid, “Please helpme.”
. i{m‘r s it e Choose the option with the correct indirect from of

the above.
A. Hepleased me to help me.

. Herequested me to help him.
C. Heordered me about helping.
D. Hesaid Ineed help

B. Washed out
C. Cleaned Up
D. Noneofthese

51) Choose the word spelt correctly.

A. Substandial
B. Substantial W) Choose appropriate antonym for the word
- C. Substential 4 ‘Gloomy'
D. Substendial _ A. Idle
: B. Wise
52) Hecompeted me for the prize. C. Cheerful
A. Off _D. Sad
B. With
C. To _ /4) Choose the correct answer from the following and
D. Off fillin ¢ 2 i ;s

53) He_____ averygoodgradeinthee
~ A. Eamed A
D.
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Which of the following does not react with water !
A. Barium &

B. Calcium

€. Beryllium o

D, Swontium

62) Identify the amino acids containing nonpolar,

»

aliphatic R groups.
A. Phenylalanine, tyrosine, and tryptophan

« B. Glycine, alanine, leucine

C. Lysine, arginine, histidine
D. Serine, threonine, cysteine

fn)

¢

‘/63) Which among the following is both glucogenie and ™

ketogenic?

\/A. Isoleucine

#.64)

5
)

B. Leucine
C. Lysine
D. Histidine

Peptide bond is a

A. Covalentbond v
B. lonic bond

C. Metallic bond

D. Hydrogenbond

Which of the following statements is true about

size-exclusion chromatography?

A. During the separation of a mixture of proteins,
protein with smallest molecular weight is
eluted first

. During the separation of a mixture of proteins,
protein with largest molecular weight is eluted

first i

C. During the separation of a mixture of proteins,

protein with largest molecular weight is eluted

last ’

)‘h

Wiioh of the following alkiline s fh retiln s the

parest 1 e earth it
A Caletuim

I Ntrontim

O Radium

D Beryllium

~87)

68)

9)

70)

Whint b water g

A ixture ot COand T
I mis e o COand 1,0
Cmixtiee o CO, and 1,
D Carbon mono-oxide

Which of the following catalyst is used generally
during the hydrogenation of Alkenes

A, Platinum

i Palladium

(. Nigkel

). Allofthe above

—

—

Which of the following s correct about Hard

water?

Aot as free from soluble salts of calom and
magnesium

B, itdoes not give lather with soap

C. Bothaand b

D. None of the above

Whichof the following is correct about Ammonia?

A Theammonia molecule is trigonal pyramidal in
shape

B, Ammonia gasis light blue in colour =

€. itsaqueous solution is highly basic

D. Ammonia gasisodorless ..

1}4) Which of the following 18 NOT correct about

Phosphine?
YA, _Wmhm .
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72) The neutralization reaction between an acid and a
basewsaype oft
A. Double displacement reaction
B. Displacementreaction
C. Additionreaction
D. Decomposition reaction

Oleumis

r Al

B. sulphunc acid which gives fumes of sulphur
dioxide

C. sulphuric acid saturated with sulphur trioxide

D. amixture of sulphuric and nitric acid.

=4
‘sd
—

amisture of conc. H,SO, and oil

_1,14) When sulphur dioxide is passed through a solution
¢ ofhydrogen sulphate in water

A. Sulphuric acid is formed in solution

B. Sulphurous acidis formed

C. Sulphurisprecipitated v

D. Nochangein observed

Which one of the following statement about a
chemical equation is true

T3

A. Massisconserved

\B. Massaswellas atoms are conserved
C. Atomsare conserved
D. lonsare conserved

with

A. Lawof gaseous volumes

B. LawofAvogadro

C. Law of constant proportions
D. Law of conservation of mass

7‘%) A balanced chemical equation is in accordance

77) Chemical reactioninvolve the participation of
£ A Electron
B. Protons
C. Neutrons
D. Nuclei

Set - D (Chemical Assistant)

78) Chemical reaction does notinvolve:

A. Formation of new substances having entirely
different properties than that of the reactants.

B. Breaking of old chemical bonds and formation
ofnew chemical bonds

C. Rearrangement of the atoms of reactants to
form new products

.D. Changing of the atoms of one element into
those of another element to formnew products

79) One of the following processes does not involve a
chemical reaction. That is:
A Melting of candle wax when heated
B. Bumning of candle wax when heated
C. Digestion of food in our stomach

D. Ripening ofbanana

@ Rusting of iron involves a chemical reaction which

is a combination of:

A. Reduction as well as combination reactions
_—B. Oxidationaswell as combinationreactions

C. Reductionas well as displacement reactions

D. Oxidationas well as displacement reactions

81) When ferrous sulphate is heated strongly it
undergoes decomposition to form ferric oxide as a
main product accompanied by a change in colour
from:

A. Blueto green.
B. Greentoblue.
~C. Greentobrown.

D. Greentoyellow.

82) Which of the following gases is used in the storage
of fat and oil containing foods for along time?

A. Carbondioxide gas
B. Nitrogen gas

C. Oxygengas

D. Neongas
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.83) Which among the following is popularly called  89) The symbolic representation of the molecule 0

. ' Hypo? compound is called
A. Silver Bromide A. Structural formula
i B. Silvernitrate B. Molecular formula
g . . [
| /. Sodium thiosulphate C. Empirical formula

D. Sodium phosphate ‘
D. Graphic formula x

PN

Pa

84) Which of the following is not a non-metallic

e

90) Reaction between ncutral solution of barium

mineral?
% A. Mica chloride and sodium carbonate goes to completion
P _B. Bauxite because
; C. Granite A. thereactionis irreversible
) B, Silics B. sodium chloride is only sparingly soluble in
; ' : L X water
z 8) Whl.Ch among the following is known as White . barium carbonate is almost insoluble in water
‘ h/ Wm?l? D. the solubility of BaCl, decreases in the
A. Zinc Sulphate \~ 2

presence of sodium carbonate

W X

B. Zinc Chloride
C. Zinc Phosphate

| " D. Zinc oxide 91) APhotochemical reaction is
g A. Catalyzed by light
y 6) Which among the following is a common salt in B. Initiated by light
: Detergentss C. Accompanied with emission of light
! A. Sulphate ]
; D. Usedto convert heatenergy into light

B. Nitrate
C. Sulphonate

D. Carbonate A2 Before burning in air, the magnesium ribbon is

cleaned by rubbing with a sand paper to:

87) Which among following is also known as white A. Make the ribbon surface shinier
gold? . B. Remove the layer of magnesium oxide from the
A NiCk‘fI ribbon surface
B, Rbotm C. Remove the layer of magnesium carbonate

_C. Platinum
D. Palladium

- from the ribbon surface

D. Remove the moisture from the ribbon surface

‘2?) Consider the following statements about Zeolites:
1) Zeolites are a large group of natural and  93) Theenergy required to remove an electron from the

synthetic hydrated aluminium ssilicates outermost shell of an atom in its isolated gaseous
2) Zeolites are mainly found in low-temperature state is called?
metamorphicrocks A. Electron Affinity
Which of the above statements is/are correct? B. Reducing Potential
A. 10nly L
B. 20nly _-C. lonization Potential

C. Both1&2 : . D. Shell Potential
D. NeitherInor2 :

Set-D(Ch.emical'Assistant)?' des sl o
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4) Which of'the followinuisanesscntialfhttyacid" 98 i
04 \Y 5 : ) In the binding of oxygen to my I
g YE )oglol)m, the

gt Linolenic relationship between the concentratic
B. Palmitic , wration of oxygen
C. Oleic and the fraction of binding sites occupied can best
D. Stearic be described as o
A. Hyperbolic.

B. Linear witlanegative slope

95) Which of the following is a polar derivative of
C. Linear with 2 positive slope

cholesterol?
/A, Bilesalt D. Parabolie
B. Oestrogen
C. VitaminD /99) Which of the following are not the components of
D. Progesterone RNA? :
. Thymine
7(96) Which of the following fatty acid has the least B. Adenine
melting point? o .
A. Palmiticacid + 82 2§ S Can
D. Cytosine

B. Stearicacid = 69 ‘730 <
C. Arachidonicacid (— 49

D. Timnodonic acid C, S 40L) _100) Whatisthe composition of nucleoside?

/™ A. asugar+aphosphate

.
abase+asugar — pader sYAR

Which of the following is a storage form of lipid? B.
A. Glycolip i_d ) C. abase+aphosphate

B. PhOSph?hpld D. abase+asugar+phosphate
C. Sufolipid

D. Triacyl glycerol

- H\\L\QO A~

X

Rough Work

“x meictant)
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